XGC25 R 5 S EE & &1

BS {7AA X GC (2p |[ME1 |102 [100 |B (1000 |11 |A
HLERSH
g r A. B. C EISHIXRF
EME GC [ I, [I#Fims2L
ZREL DC REAFXEIR
B A TAEIE 1125MPa FF L2 B 5
LR I : | SOFRI/EIRLL
MF1  SI3kE=3 II : DINZZEIZ LY
MF2  EIRZE=3 Il  : DINARNZEIBELL
MP3  EIREIRT 1712 (mm) S WIFATTIE
MT4  FhiEERdH= #H12: A. BSIRERXSH
MS2 B FL1E
SN EARE | ZimER |
01023 [a) 2% i 01 BTz
02T #F Bz 42 i NTCLE it
EERASH Bl WEAEHME, HIEER, HE
P=25MPa (%" 438 100, #F1&55 GEEELA1: 14) EH25Mpa,
SO P=20MPa (7k 7 f2) gﬁé§’”£§g%ﬁ’iggﬂﬁ’
s e 1= 4 Ps=37. 5MPa (& #)i) #5187 XGC25WF10102-1008-1000- 1B
P=30MPa (7K Z —f%) XW%ﬁzﬁ%%EXﬂmﬁéﬁxﬁm
AY i . K7 HAS, FiH
HEHENR
—20°C — + 200°C XGC. XGDFF 5 /EEAR & E 41
NERIMERESEE oo O RELIH S . TERA MR

FIIRIT SR 1R 1 ERNE: B, K-Z BN
EEhEEE2. 8 mm%/s-380mm%/s R, ITERHEIRER

_ @ 5 KX T1E]E /125Mpa
ICST=1 mm?> T X .4
( mm/s) OFiniE . MR LM, MEAE, @
— e T4 (&
B E{TIRE 0.5m/s

O A MIRTE: HI6NIIENIE, FH2NEEMMEN, AR2561 M. RIEFANERRIESE
X, BEMNERIIZSH, HAHAZENH (XA , TFFAERHIFE.

O A FIR~T S EEN #r4E, SREXROTHAFHY “CD250, CG250” HFI—H(, tHFHEEELRAMA
AR “Series 250K” RFIEAR—HH. ERIMNERTEEiZ, EFEMRIZR-

ORI iz, ARFIBEAFEMIUIIH, g&. L. &£E. B, fEMA. BIE. VUK. &K
R, A, LI, B, EIZ,

O ZHMUEEERAE. AKX, EEHAOTY.



XGC25MP3EL R FISEEER

L1+5

!

e N

Li |_gi:|_t1 Lii L L& H9EER SRR AN
|
N 1z |15 o] T
(A
) _'\\l/ = E = Z E o|l—3
\E[{g_ :
h
XGC25MP3Z!
D 40 50 63 80 100 | 125 | 140 | 160 | 180 | 200 | 220 | 250 | 280 | 320 | 360 | 400
d (A/B) 22/28 28/36 36/45 45/56 56/70 70/90 | 90/100 | 100/110{110/125]|125/140| 140/160| 160/180| 180/200| 200/220| 220/250| 250/280
[ B |M16X1.5 |M22X1.5 [M30X2 M36X2 M48X2 M56X2 M72X3 M80X3 M100X3 |M110X3 [M125X4 [M125X4 |M140X4 |M160X4 |M180X4 [M200X4
D1 [[BY [M16X1.5 |M22X1.5 |M28X1.5 [M35X1.5 |M45X1.5 [M58X1.5 |M65X1. 5 [MBOX2 M100X2 [M110X2 [M120X3 |M120X3 [M120X3
1B [mM18X2 M24X2 M30X2 M39X3 M50X3 M64X3 M80X3 M90X3 M100X3 |M110X4 |[M120X4 [M120X4 |M150X4 |M160X4 |M180X4 [M200X4
D2 50 64 75 95 115 | 135 | 155 | 180 | 200 | 215 | 245 | 280 | 305 | 350 | 400 | 450
D3 80 100 120 | 140 | 170 | 205 [ 225 | 265 | 290 | 315 | 355 | 400 | 440 | 500 [ 550 | 620
D4 | /L\\%“ M18X1.5 [M22X1.5 [M27X2 M27X2 M33X2 M42X2 M42X2 M42X2 M50X2 M50X2 M50X2 M50X2 M50X2 M50X2 M60X2 M60X2
D5 25 30 35 40 50 60 70 80 90 100 | 110 | 110 | 120 [ 140 | 160 | 180
L1 252 265 | 302 | 330 | 385 | 447 | 490 | 550 | 610 | 645 | 750 | 789 | 884 [ 980 | 1080 | 1190
[ B 22 30 40 50 63 75 85 95 112 | 112 | 125 | 125 | 140 | 160 | 180 | 200
L2| & 16 22 28 35 45 58 65 80 100 | 110 | 120 | 120 | 130
115 30 35 45 55 75 95 110 | 120 | 140 [ 150 | 160 | 160 | 190 [ 200 | 220 | 260
L4 54 58 67 65 85 97 105 | 120 | 130 | 135 | 155 | 165 | 170 [ 195 | 210 | 230
L5 17 20 20 20 30 30 30 35 35 40 40 40 40 40 50 50
L6 23 23 | 22.5] 32.5|27.5|32.5|37.5| 40 50 50 65 65 90 100 | 110 | 130
L7 35 40 45 60 65 70 75 85 95 105 | 125 | 140 | 150 [ 175 | 200 | 220
L8 28 32.5 | 40 50 |[62.5| 70 82 95 113 | 125 |142.5| 160 | 180 | 200 | 230 | 260
R1 28 32.5 | 40 50 |[62.5| 65 77 88 103 | 115 |132.5[ 150 | 170 | 190 | 215 | 245
R2 56.5 61 75.5| 81.5 | 99 113 | 133 | 149 [172.5(182.5| 210 | 230 | 261 | 287 | 330 | 360
R3 53 57.5 | 70.5| 76.5 | 81 107 | 123 | 139 [158.5[168.5| 192 | 212 | 239 | 265 | 302 | 332
B1 20 22 25 28 35 44 49 55 60 70 70 70 85 90 105 | 105
B2 23 28 30 35 40 50 55 60 65 70 80 80 90 110 | 120 | 130
6 6 6 6 6 6 8 8 8 8 8 8 8 8 10 10
10 12.5 15 15 20 25 25 30 30 | 37.5|37.5| 45 45 | 52.5]52.5| 60
A Kg/mm 0.013/(0.02/0 |0.026/0.037/ (0.057/]0.076/]0.127/(0.136/10.171/]0.219/0. 282/]0. 424/(0. 476/0. 612/]0. 743/(0. 934/
0.016 |[.023 0.034 |[0.05 0.068 [0.096 ]0.139 [0.149 ]0.192 |[0.244 ]0.319 |0.466 |0.523 |0.663 |0.829 |1.031
6.5/6. |10.5/1 |[16.6/1]25.1/2 101/10]152/15(208/20(265/26|1402/40(536/53|752/75|1058/1(1440/1]2048/2
P | el 6 0.6 6.9 5.3 R 2 3 9 7 / 4 9 6 088 448 055
Ke IA 1B |7.3/7. |11.4/1 |18.0/1)|27.5/2 48/49 |83/84 112/11]1169/17|234/23|295/29)448/45(583/58|840/84|1204/1(1580/1|2234/2
111C 4 1.6 8.3 7.7 3 0 5 8 0 6 4 207 588 241

WIEGLERE: Q~J+A.SKg

2




—" Qb '
XGC25MF1 B! A 5 S [ E B & [ T
L1+5
12 Lb #ERRA T
LS
|2—DL
y . ,* T | til-;gt
s A i [
Warnwn| M E i HRE
NN TI° ?
\‘m__:!: —————————— _'_ ".] R 2 :E_
_ h
L9 L9
Li1| L10
XGC25MF 1%
D 40 50 63 80 100 125 140 160 180 200 220 250 280 320 360 400

d (A/B) 22/28 28/36 36/45 45/56 56/70 | 70/90 | 90/100 | 100/110f110/125|125/140|140/160| 160/180| 180/200| 200/220| 220/250| 250/280

[ B |[M16X1.5 |M22X1.5 [M30X2  |M36X2 M48X2  IM56X2  [M72X3  |M80X3  [M100X3 |[M110X3 [M125X4 |M125X4 |M140X4 [M160X4 |M180X4 [M200X4

D1 [[BY [M16X1.5 |M22X1.5 |M28X1.5 [M35X1.5 |M45X1.5 [M58X1.5 |M65X1.5 [MBOX2  [M100X2 |M110X2 [M120X3 [M120X3 [M120X3

118 [M18X2 M24X2 M30X2  |[M39X3 M50X3  |[M64X3  [M80X3  |MOOX3  [M100X3 [M110X4 [M120X4 |M120X4 |M150X4 [M160X4 |M180X4 [M200X4

D2 50 64 75 95 115 | 135 | 1556 [ 180 | 200 | 215 | 245 [ 280 | 305 | 350 | 400 [ 450
D3 80 100 120 | 140 | 170 | 205 [ 225 | 265 | 290 | 315 [ 355 | 400 | 440 | 500 [ 550 | 620
D4| N |wiexi.s [m22x1.5 [m27x2  [M27x2  |M33x2  |M42x2  |m42x2  |m42x2  [MSOX2  [MS50X2  [M50X2  [M50X2  [M50x2  [msox2  [meox2  [meox2
D6 90 110 130 | 145 175 | 210 | 230 [ 275 | 300 | 320 | 370 [ 415 | 450 | 510 | 570 [ 640
D7 108 130 155 170 | 205 [ 245 | 265 | 325 | 360 [ 375 | 430 | 485 [ 520 [ 600 | 660 | 740
D8 130 160 185 | 200 | 245 | 295 [ 315 | 385 | 420 | 445 [ 490 | 555 | 590 | 680 [ 740 | 830
D9 9.5 | 11.5 14 14 18 22 22 26 26 33 33 39 39 45 45 50
L1 226 234 | 262 | 275 | 325 | 382 | 420 | 475 | 515 | 540 [ 635 | 659 | 744 | 815 [ 890 | 980

[ & 22 30 40 90 63 75 85 95 112 | 112 | 125 [ 125 | 140 | 160 | 180 [ 200
L2 1% 16 22 28 35 45 58 65 80 100 | 110 | 120 [ 120 | 130
112 30 35 45 95 75 95 110 | 120 | 140 [ 150 | 160 | 160 | 190 [ 200 | 220 | 260

L4 54 58 67 65 85 97 105 | 120 | 130 [ 135 | 155 | 165 | 170 [ 195 | 210 | 230
L5 17 20 20 20 30 30 30 35 35 40 40 40 40 40 50 50
L6 32 32 [27.5| 27.5|32.5]37.5]|42.5| 50 50 50 75 75 100 | 110 | 120 [ 140
L9 5 5 3 5 5 5 10 10 10 10 10 10 10 10 10 10
L10 30 30 35 35 45 50 50 60 70 75 85 85 95 120 | 130 | 140
L11 19 23 27 25 35 42 45 50 50 50 60 70 65 65 70 80
L12 5 5 5 5 5 5 5 10 10 10 10 10 10 10 10 10
R2 56. 5 61 75.5| 81.5 | 99 113 | 133 | 149 [172.5[182.5] 210 | 230 | 261 | 287 | 330 | 360
R3 53 597.5 1 70.5| 76.5 [ 81 107 | 123 | 139 [158.5[168.5| 192 | 212 [ 239 | 265 | 302 | 332

6 6 6 6 6 6 8 8 8 8 8 8 8 8 10 10

10 12.5 | 15 15 20 25 25 30 30 | 37.5[37.5| 45 45 | 52.5|52.5| 60

A Ke/mm 0.013/]0.02/0 (0.026/(0.037/ |0.057/(0.076/(0.127/]0.136/]0. 171/]0. 219/]0. 282/ (0. 424/(0. 476/]0. 612/|0. 743/]0. 934/
g 0.016 [.023 ]0.034 [0.05 ]0.068 [0.096 [0.139 |0.149 ]0.192 ]0.244 |0.319 [0.466 |0.523 |0.663 |0.829 [1.031

9.2/9. (14.3/1 |21.9/2(29.9/3 121/12|188/18(250/25(305/30(458/46|610/61836/84|1230/1|1611/1|2270/2
[ 11
J 3 4.4 2.1 0.1 | 2 9 2 7 0 3 0 233 619 271
[A 1B 15.3/1 |23.3/2(32.3/3 131/13|205/20(276/27335/33|504/50(657/66(924/92|1349/1|1751/1|2459/2
Ke 111C i 1° 5.4 3.5 2.5 56/57 195/96 2 6 8 7 7 0 8 352 759 464

WIEGLERE: Q~J+A.SKg

3



XYGC25MF28! 2 51| 5 [+ & # i,

4
-

i

L1+S #5EmRA TiREAR
L2 L& 56 L12
5 |_T_£+| - } - i‘_.:-_-ﬂh nxD9
/./":If__:" """" s ' ‘ B i j
\F =] | B
L9 L9
L10 D8
XGC25MF2%Y
D 40 | 50 | 63 | 80 | 100 | 125 | 140 | 160 | 180 | 200 | 220 | 250 | 280 | 320 | 360 | 400
d (A/B) 22/28 28/36 36/45 45/56 56/70 70/90 | 90/100 | 100/110|110/125|125/140| 140/160| 160/180| 180/200| 200/220| 220/250| 250/280
1 9_}.2 M16X1.5 [M22X1.5 [M30X2 M36X2 M48X2 M56X2 M72X3 M80X3 M100X3 |[M110X3 [M125X4 |M125X4 [M140X4 |[M160X4 |M180X4 [M200X4
D1 11 9_}.2 M16X1.5 [M22X1.5 [M28X1.5 [M35X1.5 [M45X1.5 [M58X1.5 |M65X1.5 [M8OX2 M100X2 [M110X2 [M120X3 |M120X3 [M120X3
IHJ__’F.Q M18X2 M24X2 M30X2 M39X3 M50X3 M64X3 M80X3 M90X3 M100X3 |[M110X4 [M120X4 |M120X4 [M150X4 |[M160X4 |M180X4 [M200X4
D2 50 | 64 | 75 | 95 | 115 | 135 | 155 | 180 | 200 | 215 | 245 | 280 | 305 | 350 | 400 | 450
D3 80 | 100 | 120 | 140 | 170 | 205 | 225 | 265 | 290 | 315 | 355 | 400 | 440 | 500 | 550 | 620
D4 | Q%U M18X1.5 [M22X1.5 [M27X2 M27X2 M33X2 M42X2 M42X2 M42X2 M50X2 M50X2 M50X2 M50X2 M50X2 M50X2 M60X2 M60X2
D6 90 | 110 | 130 | 145 | 175 | 210 | 230 | 275 | 300 | 320 | 370 | 415 | 450 | 510 | 570 | 640
D7 108 | 130 | 155 | 170 | 205 | 245 | 265 | 325 | 360 | 375 | 430 | 485 | 520 | 600 | 660 | 740
D8 130 | 160 | 185 | 200 | 245 | 205 | 315 | 385 | 420 | 445 | 490 | 555 | 590 | 680 | 740 | 830
D9 9.5 | 11.5| 14 | 14 | 18 | 22 | 22 | 26 | 26 | 33 | 33 | 39 | 39 [ 45 | 45 | s0
L1 256 | 264 | 297 | 310 | 370 | 432 | 475 | 535 | 585 | 615 | 720 | 744 | 839 [ 935 | 1020 | 1120
12 | 22 [ 30 | 40 | 50 | 63 | 75 | 85 | 95 | 112 | 112 | 125 | 125 | 140 | 160 | 180 | 200
L2f & [ 16 | 22 | 28 | 35 | 45 | 58 | 65 [ 80 | 100 | 110 | 120 | 120 | 130
m# | 30 | 35 | 45 | 55 | 75 | 95 | 110 | 120 | 140 | 150 | 160 | 160 | 190 | 200 | 220 | 260
L4 54 | 58 | 67 | 65 | 85 | 97 | 105 | 120 | 130 | 135 | 155 | 165 | 170 | 195 | 210 | 230
L5 17 | 20 | 20 | 20 [ 30 | 30 | 30 | 35 | 35 | 40 | 40 | 40 | 40 | 40 | 50 | 50
L6 32 | 32 |27.5|27.5|32.5[37.5{425| 50 | 50 | 50 [ 75 | 75 | 100 | 110 | 120 | 140
L8 28 | 32.5| 40 | 50 |e62.5| 70 | 82 | 95 | 113 | 125 [142.5] 160 | 180 | 200 | 230 | 260
L9 5 5 5 5 5 5 5 | 10| 10| 10 10] 10 10] 10] 10] 10
L10 30 | 30 | 35 | 35 | 45 | 50 | 50 | 60 | 70 | 75 | 85 | 85 | 95 | 120 | 130 | 140
L12 19 | 23 | 27 | 25 [ 35 | 42 | 45 | 50 | 50 | 50 | 60 | 70 | 65 [ 65 | 70 | 80
R2 56.5| 61 |75.5| 81.5| 99 | 113 | 133 | 149 [172.5|182.5] 210 | 230 | 261 | 287 | 330 | 360
R3 53 | 57.5 |70.5| 76.5 | 81 | 107 | 123 | 139 [158.5|168.5] 192 | 212 | 239 | 265 | 302 | 332
n 6 6 6 6 6 6 8 8 8 8 8 8 8 8 | 10 | 10
h 10 [ 125 15 | 15 [ 20 | 25 | 25 | 30 | 30 |37.5|37.5| 45 | 45 [52.5]52.5| 60
A Ke/mm 0018/ [0.02/0 [0 026/]0. 037/ Jo.057/[0. 076/ 0. 127/[0.136/[0. 171/]0. 219/ 0. 282/ 0. 424/[0. 476/ [0 612/[0. 743/ 0. 034/
0.016 |.023 [0.034 |o.05 |0.068 [0.096 [0.139 0. 149 [0.192 0. 244 [0.319 |0.466 |0.523 |0.663 0.829 [1.031
AN . 2.2/9. 1.4.43/1 ;1.19/2 (z)?ig/s B | P ;zmz 51;88/18 :50/25 305/30 358/46 210/61 (8)36/84 ;220/1 ;?;1/1 ;3;0/2
e [ 14118 g 0/10 ;?5.43/1 ;3.53/2 ;2.53/3 sl ;31/13 205/20 276/27 :7335/33 304/50 257/66 224/92 ;239/1 ; ;gm igig/z

WIEGLER: Q~J+A.SKg




XGC25MT4E! R %I 5 )

£ EFHR

L1+S
L2 - Lb |2‘I[”‘1 - E L1s - ‘A 145 #EHR TEER
=T il e
(=l [ ravil Milwe
\ LA =0 H:‘ N | ) 5
Yy il = | ~~{-r2nax
- ! B Lig
Min L15 o o . L19. s
s 3 it
XGC25MT4%Y
D 40 50 63 80 100 125 140 160 180 200 220 250 280 320 360 400
d (A/B) 22/28 28/36 36/45 45/56 56/70 70/90 | 90/100 | 100/110|110/125|125/140| 140/160| 160/180| 180/200| 200/220| 220/250| 250/280
Smin 20 20 20 30 30 30 30 30 30 30 50 80 120 150 180 200
I ﬂ M16X1.5 |M22X1.5 [M30X2 M36X2 M48X2 M56X2 M72X3 M80X3 M100X3 |[M110X3 |M125X4 |[M125X4 |[M140X4 |M160X4 |M180X4 |[M200X4
D1 11 9;.“2 M16X1.5 |M22X1.5 |[M28X1.5 |[M35X1.5 |M45X1.5 [M58X1.5 |[M65X1. 5 |[M80X2 M100X2 |[M110X2 |M120X3 [M120X3 |[M120X3
Iﬂﬂ M18X2 M24X2 M30X2 M39X3 M50X3 M64X3 M80X3 M90X3 M100X3 [M110X4 |M120X4 |[M120X4 |[M150X4 |[M160X4 |M180X4 [M200X4
D2 50 64 75 95 115 135 55 180 200 215 245 280 305 350 400 450
D3 80 100 120 140 170 205 225 265 290 315 355 400 440 500 550 620
D4 | //_}ﬁlj M18X1.5 |M22X1.5 [M27X2 M27X2 M33X2 M42X2 M42X2 M42X2 M50X2 M50X2 M50X2 M50X2 M50X2 M50X2 M60X2 M60X2
D10 30 30 35 40 50 60 65 75 85 90 100 110 130 160 180 200
L1 226 234 262 275 325 382 420 475 515 540 635 650 744 815 890 980
[ A 22 30 40 50 63 75 85 95 112 112 125 125 140 160 180 200
L2| II#& 16 22 28 35 45 58 65 80 100 110 120 120 130
g 30 35 45 99 75 95 110 120 140 150 160 160 190 200 220 260
L4 54 58 67 65 85 97 105 120 130 135 155 165 170 195 210 230
L5 17 20 20 20 30 30 30 35 35 40 40 40 40 40 50 50
L6 32 32 27.5| 37.5 [ 32.5137.5]42.5 50 50 50 75 75 100 110 120 140
L12 5 5 5 5 5 5 5 10 10 10 10 10 10 10 10 10
L14 35 35 40 45 55 65 70 80 95 100 110 125 145 175 200 220
L15 135 140 160 160 205 235 255 285 315 325 390 420 480 540 595 655
L16 134 139 462 | 162.51202.5| 237 260 [292.5|317.5]332.5( 390 407 452 500 545 600
L17 125 130 150 150 185 220 250 280 290 315 360 360 390 420 450 495
L18 20 20 20 25 30 40 42.5| 52.5 55 55 60 65 70 90 100 110
L19 95 115 130 145 175 210 230 275 300 320 370 410 450 510 560 630
R2 56.5 61 75.51 81.5 99 113 133 149 |172.5(182.5]| 210 230 261 287 330 360
R3 53 57.5 1 70.5| 76.5 81 107 123 139 |158.5(168.5| 192 212 239 265 302 332
R4 1.5 1.5 2 2 2 2.5 2.5 2.5 2.5 2.5 2.5 2.5 2.5 2.5 4 4
n 6 6 6 6 6 6 8 8 8 8 8 8 8 8 10 10
AR/ 0.013/0.02/0 (0.026/]0.037/ |0.057/|0.076//0.127/]0.136//0.171/(0.219/]0. 282/(0. 424/10. 476/(0. 612/]0. 743/|0. 934/
0.016 |.023 0.034 |[0.05 0.068 [0.096 |0.139 |0.149 |0.192 |0.244 |0.319 |0.466 |0.523 |0.663 [0.829 |1.031
J |1 mm 7.7/1. ;.2;54/1 ;8. 7/1 3.7.42/2 47/48 |80/81 ;OS/1O ;71/17 (2)28/23 ;80/28 328/43 285/58 210/81 :;(7)7/1 ;57)82/1 §§$4/2
Ke 1A 1IB |8.4/8. [13.4/1 |20.2/2]29.6/2 51/52 |88,/89 118/11(188/181255/25(310/311475/47|632/63|898/90(1296/1|1702/12412/2
111C 5 349 0.4 9.8 9 9 7 2 7 5 2 299 710 419

IR E E: Q~J+A.SKg




XGC25MS2EI 2 51| 5%

5 &) i JE T

L1+§
L2 L4 122, i BARAR  THEIHR
LS 2-D&
T =0 l I__ % R3
Lol TH i k
{r I?jl‘;:“ SR ol— 3 ¢ é\ f
I & 5 4.
S - - B }
L20 e L2390 +5 — LLZZ;'
XGC25MS2%!
D 40 50 63 80 100 125 140 160 180 200 220 250 280 320 360 400
d (A/B) 22/28 28/36 36/45 45/56 56/70 70/90 | 90/100 | 100/110{110/125]|125/140| 140/160| 160/180| 180/200| 200/220| 220/250| 250/280
[ & M16X1.5| M22X1.5 | M30X2 M36X2 M48X2 M56X2 M72X3 M80X3 | M100X3 | M110X3 | M125X4 | M125X4 | M140X4 | M160X4 | M180X4 | M200X4
D1 JIgid M16X1. 5| M22X1.5 | M28X1. 5| M35X1. 5 | M45X1. 5| M58X1. 5| M65X1. 5] M80X2 | M100X2 | M110X2 | M120X3 | M120X3 | M120X3
gl M18X2 M24X2 M30X2 M39X3 M50X3 M64X3 M80X3 M90X3 | M100X3 | M110X4 | M120X4 | M120X4 | M150X4 | M160X4 | M180X4 | M200X4
D2 50 64 75 95 115 135 155 180 200 215 245 280 305 350 400 450
D3 80 100 120 140 170 205 225 265 290 315 355) 400 440 500 550 620
D4 | N I misx1. 5| M22x1.5 | M27x2 | M27x2 | M33x2 | ma2x2 | ma2x2 | m42x2 | ms0x2 | Msox2 | msox2 | M50x2 | M50x2 | Msox2 | meox2 | meox2
D11 11.5 ] 11.5 14 18 22 26 30 33 39 39 45 52 52 62 62 70
L1 226 234 262 275 325 382 420 475 515 540 635 650 744 815 890 98
[ &Y 22 30 40 50 63 75 85 95 112 112 125 125 140 160 180 200
L2| I1# 16 22 28 35 45 58 65 80 100 110 120 120 130
117 30 35 45 55 75 95 110 120 140 150 160 160 190 200 220 260
L4 54 58 67 65 85 97 105 120 130 135 155 165 170 195 210 230
L5 17 20 20 20 30 30 30 35 35! 40 40 40 40 40 50 50
L6 32 32 27.5| 37.5 [ 32.5137.5]42.5 50 50 50 75 75 100 110 120 140
L20 106.5| 110.5| 127 185 165 192 1207.5(232.5| 250 260 307 320 [369.5| 400 435 480
L21 12.5 ] 12.5 15 25 25 30 32.5137.5 40 45 47 50 64.5 60 65 70
L22 30 35 40 50 55 60 65 75 80 90 94 100 120 120 130 140
L23 55 57 70 55 75 90 105 120 135 145 166 174 165 200 220 240
L24 110 130 150 170 205 255 280 330 360 385 445 500 530 610 660 750
L25 135 155 180 210 250 305 340 400 440 465 530 600 630 730 780 880
R2 56.5 61 75.5| 81.5 99 113 133 149 |172.5(182.5]| 210 230 261 287 330 360
R3 53 57.5170.5| 76.5 81 107 123 139 |158.5(168.5| 192 212 239 265 302 332
n 6 6 6 6 6 6 8 8 8 8 8 8 8 8 10 10
A Kg/mm 0.013/(0.02/0 (0.026/]0.037/ |0.057/]0.076/0.127/]0.136/(0.171/]0.219/(0.282/10. 424/|0. 476/10. 612/(0. 743/10. 934/
0.016 |.023 0.034 |[0.05 0.068 [0.096 |0.139 |0.149 |0.192 |0.244 [0.319 |0.466 [0.523 |0.663 [0.829 |1.031
J |1 nm ; 7/1. ;_269/1 :)9. 7/2 g?.87/2 49/50 |86/887 ;18/11 ;76/17 §33/23 597/29 330/43 270/57 387/79 :1225/1 ;(5)20/1 ?(1)(;2/2
Ke IA IIB |8.4/8. |13.9/1 |21.1/2]32.1/3 53/54 |94/95 128/121193/19(260/261327/32|477/471618/62|875/87|1244/1(1640/1]2289/2
11I1C 5 4 1.4 4, &) 9 4 2 9 9 1 9 247 648 296

WRFTE E: Q~J+A.SKg




GD?Z5

GDZ25MA

e

I A
GD25TA

L5

1

AT e
Lu.r_l

L

il

™
’k

Il

JTL

B R SF S EXGC255% FH I P 2%

D 40 50 63 80 100 125 140 160 180 | 200 | 220 | 250 | 280 | 320 | 360 | 400
L1 268 | 278 | 324 | 325 405 474 | 520 | 585 635 665 780 | 814 | 904 | 1000 | 1090 | 1200
LS 17 20 20 20 30 30 30 35 40 40 40 40 40 50 50 50
D 20 | 50 | 63 | 80 | 100 | 125 | 140 | 160 | 180 | 200 | 220 | 250 | 280 | 320 | 360 | 400
(/B |22/28] 20736 [sesas] 45756 | 56/70] 70790 [s0r100 1000/11 1105/12 1250/14 1400/16 1600/18 1800/20 2000/22 2200/25 2500/28
A Ke/mm |°-015 [0-028/[o.031 Jo-044/o.076/o. 106/ 0. 176/]0. 192/ 0. 245/[0. 315/ 0. 403/ 0. 582/ [o0. 676/ o. 858/ [ 1007, [ 1. 317/
/0.02 |0.029 |/0.04 [0.0634 [0.098 [0.148 [0.201 |0.218 |0.289 0.365 0. 477 |0.666 |0.770 |0.962 |1.212 |1.511
[T Jo.2ss [1a.5/1(23.6/ 31578 oo |osjr [136/14 208121 [277128 [344/35 [510/51 [677/68[032/94]1367/11816/1[2507/2
Dol |4 |as |eas |26 3 o 2 2 s 3 o a6 |s57 526
tarm [9.9/1(15.5/1(25.1/ [33.9/3 | . . ~[103/10]146/15|225/22[303/30(374/38 557 /56724/73 1020/ 1| 1486/1 1956/ [2694/2
cpgspfPlie Jo.1 |58 [258 |50 5 3 7 8 o s 0 o2 [a95 [o97 [713
X [aell [10.6/ (16.5/126.5/ [36.3/3 | o~ [111/11[156/16[243/24[330/33[404/41[601/61[771/77 1108/ 1605/1[2096/2 28802
Ballice [10.8 [6.8  [27.2 [7.4 3 3 5 5 4o 7 116|614 137|999
DI f7.9/7012.5/1| 20,5/ 28.8/2] o | o o [125/13]190/19] 254/26] 318/32] 479/48( 653 /65| 905 /91{ 1314/1{ 1767/1{ 2461/2
b 9 | 2.7 [21.2] 9.9 2 3 o | 6 5 9 3 | 323 | 808 | 480
tan | 8.4/8[13.5/1[21.0/[31.273] T o T134/14]208/21281/28[348/35526/53[ 700,70 093/ 10] 1433/1 1807/1 2648 /2
o5t | 6 | 37 [227] 23 1 0 6 7 2 6 | o1 | 442 | 948 | 667
X Laett |9.1/914.5/1[ 2.4/ [33.6/3] . [104/10]144/15|225/22[307/31(378/38573/57(747/75 1061/1( 1552/1[2047/2] 2834/2
Ballice | .3 | 47 |242| 47 6 1 8 2 7 9 3 | 069 | 561 | oss | 853
|11 [7.7/7]12.9/1] 21.5/]31.6/3 131/13[196/19( 262/26|335/34| 482/48[ 639/64] 844/89| 1262/1] 1705/1|2339/2
b m 9 | 32 |222] 2.6 |2%/50|%%] 4 8 7 3 8 5 2 | 211 | 746 | 358
Tatl | 8 4/8[13.9/1]22.9/ 102/10| 142/14 | 213/21 | 288/29 | 365/37 | 529/53 | 686,69] 972/98| 1381,/1| 1849,/1|2526,/2
34/35 | 59/60
cppsglBlie | .6 | 42 [ 236 4 | 9| 5| 3| a | s 2 | o | 390 | 886 | 545
I Lrent [9.1/9(14.9/1] 244/ (36,473 o 110/11 153/16|230/23[314/31[395/40[ 576/58[ 733,/73[ 1060/1{ 1500/1| 19852 2712/2
gatice | .3 | 5.2 | 25.1] 7.4 0 2 9 5 2 o | 068 | 509 | 026 | 731
{&rfﬁlﬁgﬁ Q~J+/\.SKg



Bi

—_ = =l v n
XGC25 %% 5 & & # i [k £I SESS
’1 2\% - “.‘ T i
HINR~T = ‘x,\
D1 La
e RPAL By CBEEIARI 25 S Ty 11, TZBRAERBC Do
IEFCRIH IR, l AE B30 55 35 JE AT TR) AN i W B 3 F 1) 2
D (EIIRATE) 40 50 63 80 100 125 140 160 180 200 220 250 280 320 360 400
di 25 30 35 40 50 60 70 80 90 100 110 110 120 140 160 180
AZI M16X1. 5| M22X1.5| M30X2 M36X2 M48X2 M56X2 M72X3 M8OX3 | M100X3 [ M110X3 | M125X4 | M125X4 | M140X4 | M160X4 | M180X4 | M200X4
D1 BE! [M16X1.5[M22X1.5 [ M28X1.5| M35X1. 5| M45X1.5 | M58X1.5 | M65X1.5| M80X2 | M100X2 | M110X2 | M120X3 | M120X3 | M130X3
cEY M18X2 M24X2 M30X2 M39X3 M50X3 M64X3 M80X3 M90X3 | M100X3 [ M110X4 | M120X4 [ M120X4 | M150X4 | M160X4 | M180X4 | M200X4
D2 28 35 44 55 70 90 105 125 150 170 180 180 210 230 260 280
il 23 31 41 51 64 76 86 96 113 113 130 130 145 165 185 205
H BE! 17 23 29 36 46 59 66 81 101 111 125 125 135
CE! 31 36 46 56 76 96 111 121 141 151 165 165 195 205 225 265
B1 23 28 30 35 40 50 99 60 65 70 80 80 90 110 120 130
AZY 55 70 85 100 125 150 170 185 220 235 265 265 310 370 420 480
L1 BE! 50 60 70 85 105 130 150 170 210 235 265 265 310
CE! 65 75 90 105 135 170 195 210 250 275 300 300 360 420 460 520
L2 27 33 38 45 99 65 5 80 90 105 NS 115 140 160 180 200
L3 30 34 42 50 63 70 83 95 113 125 142.5 | 142.5 180 200 230 260
L4~ 44 50 60 74 90 112 130 150 160 170 190 190 230 250 280 310
R 28 32 39 47 58 65 717 88 103 115 132.5 | 132.5 170 190 215 245
a 6° 6° 6° 6° 6° 6° 6° 6° 6° 6° 6° 6° 6° 6° 6° 6°
.
mﬁgﬂ-’:ﬁ_ﬁ hi 9 20 40 80 80 160 160 300 300 300 500 500 500 1000 1000 1800




RIEFIRREMS . mXIFHITE

L?

L1+5

M | I‘l
(A 16 & )
R\a NS/ V)
L=ln  S=hL-(1=12)
T{E£E/1 P (Mpa)
REELATZE D| SEEFER 5 | 10 15 20 | 25
BAFHEITE S (mm)

. 22 360 205 140 100 70
28 680 435 325 260 215

. 28 500 305 215 165 130
36 940 615 470 385 325

63 36 690 430 315 245 200
45 1185 780 600 495 425

80 45 870 550 410 325 270
55 1470 975 755 625 535

100 55 1095 700 525 420 350
70 1855 1235 960 800 685

15 70 1390 895 675 545 455
90 2490 1670 1310 1095 950

— 90 2160 1430 1105 915 785
100 2745 1845 1445 1205 1045

- 100 2320 1530 1185 975 835
110 2885 1930 1510 1260 1085

e 110 2475 1630 1255 1030 880
125 3320 2225 1740 1450 1255

200 125 2920 1935 1500 1240 1065
140 3775 2540 1995 1670 1445

. 140 3325 2200 1705 1410 1205
160 4500 3030 2380 1995 1730

A28 160 3880 2590 2015 1675 1445
180 5050 3415 2690 2260 1965

280 180 4380 2925 2275 1890 1630
200 5550 3750 2950 2475 2150

ool 200 4700 3130 2430 2015 1730
220 2830 3925 3080 2580 2235

-, 220 5035 3340 2590 2140 1835
250 6720 4530 3560 2985 2590

Jin 250 5900 3530 3055 2535 2180
280 7605 5135 4045 3390 2945




	组合 1.pdf
	XYGC25油缸样本.pdf
	XYGC25系列油缸说明文档.pdf
	XYGC25系列油缸
	XYGC251系列油缸
	XYGC25耳环
	液压缸稳定性计算

	XYGC25耳环

	XYGC25耳环



